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Topic:- General Knowledge and Logical Knowledge

1) Name the city in which Indian Military Academy (IMA) is located?/ YR I SPIGHT (GI'IE"QTI'Q')
fra R A fR@ 3

1. Mumbai / Hﬁrs‘
2. Pune /Qﬁf
3. Delhi / faeef!

4, Dehradun / ég?l@q
Correct Answer :-

e Dehradun / 36?@3

2) Name India’s first mapping satellite? / HIRd P ugelt Aftr ﬁ%?ns?:' DI FTH ddigue?
1. CARTOSAT-I / BTERIe- I

2. Bhaskara I/ HIRh 1

3. None of These /sﬂﬁﬁﬁ’s‘:ﬁﬂ

4. INSAT IC /ST IC

Correct Answer :-

« CARTOSAT-I/ BTeile- 1

3) If GATE is coded HBUF, then how is DEGREE coded? / df¢ GATE &1 HBUF q ®ifed forar sirar

€, 9 DEGREE &1 &3 Pifed fbar s
1. EFHSFF

2. EEHTFE



3. EEHTFF

4. EFHTFE

Correct Answer :-

e EFHSFF

4) Which of the following Indian musicians has not received a Bharat Ratna? / ﬁl’ﬁ'ﬁl@ﬁ 'J-I'R?ﬂ'q

HifiaeRi § & fFd YyRd 39 U T8 gen 82
1. Ravi Shankar / Ifd Q&R

2. Lata Mangeshkar / @l HIRIH

3. Bhimsen Joshi / YA St

4. Mohammad Rafi / FIgHG IB!

Correct Answer :-

e Mohammad Rafi / ﬂﬁ'e:m'c{ IpT

5) Pachmarhi is located in / TGHq} fd fora A fRua 87
1. Shahpura / RIMEYRT

2. Hoshangabad / BIRATETG

3. Bhojpura / 'l-nGﬂER

4. Anuppur / 3-TUYR

Correct Answer :-

e Hoshangabad / 6 JATTETG

6) Pench Hydroelectric Project is a joint project of which two states? /g 313@3%@3? CITUIEE]]
51 &1 <=1 1 g uREeT 82

1. Madhya Pradesh and Rajasthan / H&] TG UG ST
2. Madhya Pradesh and UP / H&J e T4 3R Uy
3. Madhya Pradesh and Maharashtra / TG U HERTY

4. Madhya Pradesh and Chhattisgarh / H&J UoR T4 BURNTG

Correct Answer :-

« Madhya Pradesh and Maharashtra / TSR U HERTY



7) Sanctuary that is located in Urmaria is Sanctuary. / Iufvar # fRyd rarRvg
JUIRTY B

1. Bandhavgarh / SIHa¢
2. Son /<

3. Ghatigaon / TSt

4. Kanha / ®IG[

Correct Answer :-

« Bandhavgarh / SYdig

8) The Ashoka Pillar whose lion capital was adopted by the Government of India as National Emblem, is

situated at / 3D T, ForTeT IR, YRT TSR GRT AP Uedie & w0 § Su=Irar T, et fRa 3:
1. Sarnath / HRATY
2. Gaya /1

3. Puri/ QR4
4. Varanasi / ARTOMET

Correct Answer :-

e Sarnath / IRAY

9) The 9™ President of India, born in Bhopal was / uure § Bt SU HRA ¥ id ?quﬁf DT AH
g

1. Fakhruddin Ali Ahmed / THE%E M 37cll 38HG
2. Pratibha Patil / UfdHT UTfed

3. Shankar Dayal Sharma / RIhR AT Rl

4. Kailash Nath Katju / AT ATy DIy

Correct Answer :-
« Shankar Dayal Sharma / IR AT Tt
10) Who is the President of Hockey India? / BT §{SUT T T B 82

1.PR Sreejesh/tﬂ 3R o=



2. Mariamma Koshy / AR SN
3. Narinder Batra / TRI7G &1

4. Pargat Singh / U1d ﬁl_s'

Correct Answer :-

e Mariamma Koshy / afar e

11) Who among the following has not been the President of India? fFafafea A P R $
Tpufa 81 33 82

1. Zakir Husain / STfax Eﬁq

2. N. Sanjeeva Reddy / @Wi@

3. V.V. Giri / A1l

4. C. Rajagopalachari / It ST

Correct Answer :-

 C. Rajagopalachari/?ﬁ ISR
12) Who is the Deputy Chairman of the Rajya Sabha? / TS HHT BT SUTE&l P %?

1. Sumitra Mahajan / ﬁ&ﬁﬂ Helold
2. Hamid Ansari / BTTHG 3RY
3.PJ Kurien/tﬁ@fw

4. Arun Jaitley / 319U Seat

Correct Answer :-

. PJKurien/tﬁ@fW

13) National Emergency can be declared by / ?Tg:rq STUTAPTA P TIVOTT fHTd gRT BT ST bl 872
1. Parliament / TG

2. Law minister / I e}
3. The President / Tl'gqﬁf

4. Prime Minister / T HIT

Correct Answer :-



e The President / ﬂgtrﬁl

14) Madhav national park in Shivpuri was established in the year / ﬁﬁgﬂ o reg ?T@'q T P e
v & y1fia fasa war A

1. 1978
2. 1958
3. 2008

4. 1998

Correct Answer :-

15) The longest road tunnel in India is / Wﬁmaﬁmw_%l
1. Jawahar tunnel /WW

2. Chenani-Nashri tunnel /W—WW

3. Bhatan tunnel / 'J-IET'TﬁT‘T

4. Natuwadi tunnel / FTcd é | {'R”

Correct Answer :-

e Chenani-Nashri tunnel /a:ﬂ:ﬁ—éﬂzlﬂ ﬂT‘T

16) Two dice are thrown simultaneously. The probability of getting more than 10 is / 33[ Uiy U d1Y e

MY 10 A AfUP TR 3 B UG A F RIS &

1
3

S

o=

Correct Answer :-



17) Find the odd one out: / Th faum Id ﬂ‘ﬂﬁﬂ!:
11, 22, 33, 44, 55, 65, 77

1.77
2.22
3.65

4. 33

Correct Answer :-

e 65

18) Which of the following is the first payments bank to start operations in India? / mﬁﬁﬁ?

TYH YT 9 8 S URd & UfR=Emas SR S3m?
1. Paytm/a_a@:f

2. Ujjivan Finance / 3Sold H1g-4
3. State Bank of India / HRAI T §&b
4. Airtel Payments Bank / QZI@FI ﬁlﬁ?ﬂ%

Correct Answer :-

e Airtel Payments Bank/maﬂ?ﬂ%

19) ICC Cricketer of the Year — 2016 was / 9 - 2016 & 3T Uil fohbeT A
1. R Ashwin / 3[R 314

2.MS Dhoni/@@‘ih:ﬁ

3. Virat Kohli /Wm

4. Cheteshwar Pujara /éﬁ%ﬁm

Correct Answer :-

« R Ashwin / 3R 34T



National Science Day is observed in India on /Wﬁﬂ@'ﬂﬁ'ﬂ'ﬁm & HATIT STl

gl

1. January 30/ 30 SR

2. February 28 /28 HIAR
3. December 25/ 25 foamR
4, December1/1 foamR

Correct Answer :-

e February 28/ 28 HIAR

21) First Kuldip Nayar Journalism Award was conferred on /UWW AR UGBTIl YRIPR
&1 ued foar |

1. Mrinal Pande/Ij'UTIT*[tI'i%
2. Raghu Rai / XY X
3. Ravish Kumar/?ﬁ'—‘ﬂw

4, Prabhash Joshi / UHTY o=

Correct Answer :-

e Ravish Kumar/?laﬁl PHR

22) Who was the first vice-president of India? / HIRd & Uy B'CHTgTIﬁf HHEA?
1. S Radhakrishnan / T TYTH T

2. Zakir Hussain /W@:{

3.V V Giri / dt d T’

4. B D Jatti / & ST Sgt

Correct Answer :-
S Radhakrishnan / T [YUTH T

23) was honoured with the Jnanapith Award — 2016 / @'WW -2016 9
T foear /AT

1. Girish Karnad / TR $:|i3
2. Bishnu Dey/ﬁ'&ﬂ@r



3. Shankha Ghosh / TG 919

4. Namwar Singh /Wﬁi—é

Correct Answer :-

« Shankha Ghosh / TG 9T

24) Complete the series choosing the missing number: / T JBAT TAB YT Bt GRT HIOIC:
2,4,6,8,__

1. 10

2. 11

3.9

4. 12

Correct Answer :-

25) Complete the series choosing the missing number: / T JBAT TAB YT BT GRT HIOIC:
3,6,9,_ ,15

1. 10

2. 11

3.12

4. 13

Correct Answer :-

26) Complete the series choosing the missing number: / T JBAT TAB YT Bt GRT HIOIC:
3,9, 27, ; 243

1.72

2. 81

3.90

4.75



Correct Answer :-
o &1

27) Select the option that is true about the Statements and Conclusions given:

Statements:
All bulls are cows
Some bulls are not tailors

Conclusions:
I. All tailors are cows
II1. All cows are tailors

/ 39 farey &1 99+ Fifore Sife fou e HU=T 3iv fepul & IR A 981 8:
DhY-:

It seg A §

$O Tod ool 181 &

e

1. 9t goff T €

11 it 7 ool @

1. only conclusion Il follows / Had sy || &WW%

2. only conclusion | follows / Had shY | WW%

3. neither conclusion | nor conclusion Il follows /:Tépfﬁl'&b—ﬁ [ @Tqﬁﬁmﬂf Il WUTW%
4. both conclusion 1 and Il follows / fTsw | 3R 11 G &WW%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /:Tépfﬁ'&b_ﬁfl @Tqﬁﬁ@ﬂf Il WW%

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All hotels are restaurants
All restaurants are parks

Conclusions:
I. No parks are hotels
II1. All hotels are parks



/ 39 farey &1 9+ Fifore Sife fou e Hy=1 siv fAepul & IR A 98 8:
DY-:

Tt gled IR &
it ¥ e urd @
frepd

L 7Y drea T2
I1. 9t glca Ui @

1. only conclusion Il follows / Had sy || \}WW%

2. only conclusion | follows / FHad fshy | &WW%

3. neither conclusion | nor conclusion Il follows /:TBOTﬁEFEfI @Tqﬁﬁwﬁf Il GIT:NTUTW%
4. both conclusion | and Il follows /ﬁEb_Gfl GﬁT 1] ?ﬁ:ﬁ WW%

Correct Answer :-

« only conclusion Il follows / Had sy || WW%

29) Select the option that is true about the Statements and Conclusions given:

Statements:
Some packets are not kids
All packets are flies

Conclusions:
I. Some flies are not kids
II. All flies are packets

/ 39 faeu &1 99+ Fifere Sife f3u TE SY=T six fAepul & IR A 981 8:
DY:

PO TPcTATHE

|+t U¥e AfRaai §

e

1. $ ufRgyi 7= TE1 &

11. 9t ufRayi 9%e &

1. only conclusion Il follows / Had By 11 WW%

2. only conclusion | follows / PHad (TspY | WW%

3. neither conclusion | nor conclusion |l follows /:[gsfﬁ'&b_ﬁfl G'ﬁqubfﬁ'@Fﬁf Il &awwao—{?r%

4. both conclusion | and I follows / fTehH | 3R 1A WW%



Correct Answer :-

« only conclusion | follows / Had fshy | G@WW%

30) Select the option that is true about the Statements and Conclusions given:

Statements:
Some books are magazines
All magazines are articles

Conclusions:
. Some books are articles
Il. All books are articles

| 39 fameq &1 99 Hifoe st f few e wy=Y ik fAaswul & IR # 98l &

Y

Tt ufeTg ae §

Ao

. $T THS 4E §

I g gd dE &

1. only conclusion Il follows / A fSHY || STIRUT Hl &

2. only conclusion | follows / Had fISHY | 3TIRUT HRT &

3. neither conclusion | nor conclusion Il follows /7 & fSFT | 3R 71 & fAShT 11 3TR0I % §
4. both conclusion | and Il follows / TR | 3R Il ST S{TERUI 3 &

Correct Answer :-

« only conclusion | follows / $Had FpY | WW%

31) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 3 €} 7 gaar #, @3 FT UH HH IJUFRIG & | Tad IS ygdIAg:
2, 8, 20, 48, 92, 188

1. 188

2.92

3.8



4. 48

Correct Answer :-
o 48

32) The series given below contains a sequence of numbers. Identify the incorrect

combination: / 3 €} T gaar #, W= &1 UH HH IUFRIG & | Tad S ygdIAg:
121, 169, 224, 289, 361

1. 224

2. 361

3. 169

4. 289

Correct Answer :-
o 224

33) If INSERTis coded JQXLAE, then how is WINDOW coded? | Gfe INSERT &\ JQXLAET
Fifed fPar w1 8, @ wIvDow S &8 Sifed forar SRm?

1. XLTKYH
2. XLSKXH
3. XLSKYH

4. XMSKYG

Correct Answer :-
o XLSKXH

34) If HANDis coded ICQH, then how is ZIPPER coded ? [ Gfé HAND & ICQH A ®ifsd frar
SITdT 8, df ZIPPER &) $Q ®ifsd frar Smam?

1. AJSTFS
2. AJQQixX
3. AJQQFs

4. AKSTIX

Correct Answer :-



e AKSTIX

35) Complete the series choosing the missing letter/s: / &l &R/ AERT B EGEZELERI Ca| Ul Piforg
a__bbc__aab_cca__ bbcc

1.b,a,c, b

2.3,¢,b,a

3.¢,a,b,a

4.a,b,b,a

Correct Answer :-

36) In a certain code language, accept my offer means septa fok cofon, pay my bill means
doka fok toda, pay by cash means zoda toda foda. Which is the word for bi//in that code
language? / U WY IS YT ff, accept my offer ®1 3 septa fok cofom; pay my bill &1 3
doka fok toda AUl pay by cash &1 31 zoda toda foda E.TEIT %I ?d IS U § billF ﬁ'l'{ f5a v

1 S¥auTd fpar T 32
1. doka

2. foda

3. fok

4. septa

Correct Answer :-

o doka

37) In a certain code language, dada nana papa means sell and buy, nana nina nona means
buy good shirt, and sida dada noda means play and enjoy. Which is the word for papa in that
code language? / Th @9 PIS UTST ff, dada nana papa o1 3 sell and buy; nana nina nona
31 3 buy good shirt AUl sida dada noda 1 3ref play and enjoy?"]?ﬂ %I ' PIS HUIUT H papa &
fere forw wreg &1 3%aHTe T AT 82

1. buy
2. sell
3. and

4, shirt



Correct Answer :-

o sell

38) In the following question, some group of letters is given, all of which, except one, share a
common similarity while one is different.
Choose the odd one out:

/TR uy 3R F $ g T U &, R 4 U 31 Sisey, A 9 v gHTHar welkia #d &
Safe T 398 T 81

T faww wra Hifor:
1. NML
2. X\WV
3. OPQ

4. HGF

Correct Answer :-

39) Leena and Meena are standing at a point with their backs together. Meena walks 6m
straight ahead and turns left and walks another 8m. Leena walks 4m forward eastwards.
Then she takes a turn towards left and walks 1m, turns left again and walks 4m and then
1m towards left again.

How far is Leena from Meena and in which direction?

/

T 3R FHT T R W 3t e Siisw) @l €1 Wi T 6 1t e et g s e gs e fhe s
. Terdt 81 o1 4 W Y R B 3R Tt 31 fbR 98 ¢ Yo 1 W Tt @, R I geaw 4
. Tadt 8 ofR fibr a1g ok 1 . =it 81

<ftar, i1 9 frait gl w3 sk frw e A 2
1. 10 m, north / 10 :ﬁ., Jdx

2. 10 m, south —west / 10 Iﬁ., <feorafym

3.8 m, south —east /8 Iﬁ., EF&TUT—Uj

4.5 m, north—west /5 Iﬁ., IaR-ufgy

Correct Answer :-

e 10 m, south—west /10 Iﬁ., <forufym



40) 836 @ 246 / 82 + 66 @ 234 / 13 = 881 @ is equivalent to? /
836 @ 246 / 82 + 66 @ 234 / 13 = 881 @ f* 1 § & fFgd TR M2
1.+

2. k

3./

4, -

Correct Answer :-

Topic:- Mental Ability and Mental Aptitude

1) Solve forx: / X & TOIT O &)

J25-x* =x-1
1.3
2.-5
3.4

4.2

Correct Answer :-

2) if the following two squares shown below overlap, which one of the following options is

formed? / A @& g @t yfgemfa gia &, df @ea & & &ia @1 vs [@wey aaar 87

N — ~

{

Q@
N




§_&
P @

4 o
P @

&
®@

4.

Correct Answer :-

&
P @

3
) In the sequence shown below. which figure comes next? / 1< B3 71 &\ &, 39Tl AHHia

Hia HT HEE?

DB D @




A
5

N4

4.

Correct Answer :-

A
&>

4) 1n the sequence shown below, which figure comes next? / =l & a1 e &, 3HeTell AT
i Hr 3mEi?

Correct Answer :-

5) Two groups containing same number of people have an average age of 50 and 60. Find the average

age of the two groups combined. /mﬁwmaﬁﬁaq@‘raﬂ 3NTq ST 50 dYUT 60 ai 3|



31 Il 3t frames oid 3mg 91 & |
1. 60 yrs / 60 Y
2. 55 yrs / 55 9%
3. 50 yrs / 50 98

4. 52 yrs/52a'5f

Correct Answer :-
e 55yrs/55TY

6) If 19 years are subtracted from the present age of Madan and the remainder is divided by 18, the
present age of Madan’s grandson Naman is obtained. If the sum of ages of Madan and Naman is 114,

then find the age ofMadan./U%ﬂaqaﬂa?fqﬂﬁﬂ'ﬂﬁ 19 g TeTar 74T 3R Y ) 18 A fyunfora
far T 8, A e & Ui AUE F adu 3Ry Ut o1 S 8 | 9fe W Ud THA B 3 BT AN 114
2, Y T B 3Tg 1 Y

1. 109
2. 101
3. 80

4.76

Correct Answer :-

e 109

7) Simple interest on Rs. 1800 at 18% per annum for 9 months is: / 9 q’&ﬂﬁ%ﬁlﬁ 18% Wfaad U 1800
$UY & FIT ATYRr STet [T B

1. Rs. 191
2. Rs. 243
3. Rs. 108

4. Rs. 120

Correct Answer :-

e Rs. 243

8) Eighteen years ago, a father was three times as old as his son. Now the father is only twice as old as his
son. Then the sum of present ages of the son and the father is: / I6IRg atfqz:’, Udh fUar sro= e} Jd=
T ST 4TI 314 FUaT fuq U & Fad g1 981 8 | ) FUar iR U3 & aeiuT= 3ig &1 a1 8:



1.54 years/54a'5f
2.72 years/725|'5f
3. 105 years / 105 aﬁ

4. 108 years / 108 G

Correct Answer :-

e 108 years/ 108 ¥

9) In a sugar solution of 4 litres containing 25% sugar, one liter water is added. The percentage of sugar in

the new solution is: / 4 @eX - ot faaa=T & 259% A+ 8 1 399 TS fler Uit freman wirar 81 -7¢
faag= o 9+t &Y wlazaar g 8:

1. 15%
2. 20%
3. 25%

4. 30%

Correct Answer :-

e 20%

10) Pipe A can fill a tank in 3 hours, while Pipe B takes 6 hours and Pipe C, 18 hours. If all the pipes are
opened, how long will it take to fill up the tank? / QTSU A, 3 e U ¢H B W WT%, wafe qigu B
D1 6 U 3R UEY € HI 18 6 T4 ¢ | af Tl urgu @iet faw ot &, &Y & &t wRA A fpa=m g
TR

2 2 .-
1Zhr/ 12 ©C
5 5
1. - =
lihrf 1E T
, 5 5

Correct Answer :-



11) Goods are sold so that when 2 % is taken off the selling price, a profit of 40 % is realized. By what
percent is the sale price higher than the cost price? / HId S YD R CEIRICIRC AT e A 59 2% B
H B TR, A 40% BT ATH T 8 | AT G A Fasha g fran ufa=ra siftre g2

1. 66.66 %
2.51.5%
3.30%

4.42.8%

Correct Answer :-

12) Tap A fills a tank in four hours, and Tap B empties the same tank in six hours. When both of the taps are
opened together, the tank will be filled up within: / T& A dIR e ﬁt{ﬁ? &P B HRdT %, Gﬁ?qﬁ B3
&P 1 B U A @relt Ha1 81 I S 76 TP 1Y @idd 91d &, a1 P g "e &b Hav U SIem:

1.21hr/21 9¢
2.18 hr/ 18 °¢
3.12hr/129¢

4.15hr/159¢

Correct Answer :-

e 12hr/ 1279

13) The ratio of the areas of two circles is 16 : 25. What will be the ratio of their circumference? /EBI ﬁ%

QTG BT SIUTA 16:25 § | STB1 YR BT SIUTT HIT §RI?
1.6:9

2.4:3

3.12:15

4,4:5

Correct Answer :-



14) The average of 10 numbers is 45. If each number is increased by 20 %, then the new average of the

numbers is ./ 10 TBATSHT BT 3 45 31 TfS TS JW | 20% Bt g Pt o<l 8, o T=mait
BT 41 3Nd gl

1. 45
2.70
3.54

4. 65

Correct Answer :-

. 54

15) The average age of class teacher and 10 students in a class is 25 years, which is reduced by 2 years if the
age of the class teacher is excluded. What is the age of class teacher? / Udh T H anﬁT&ﬁ? qUT 10 BEAT
Bt 3d 3 25 af §, afe ot Rigrewr &Y mg o1 ge1 Y g, <t 2 af w7 8 wrar 81 7 Rigrw @
3Tg T §?

1. 38
2.43
3.40

4. 45

Correct Answer :-

. 45

16) On selling a rickshaw for Rs. 2,640, Sanjay loses 12 %. If he wanted to gain 12 %, for how much should

he have sold the rickshaw? /WW@Z,MO mﬁéﬁwwaﬁ 12% ﬁ?ﬁ@l '!T%a? 12%
ATY YT BT aTgdl AT, df 39 39 aRn &t fbaq $uw & == anfge ur?

1. Rs. 3,160/ 3,160 ¥UUY
2. Rs. 3,360/ 3,360 ¥4UU
3. Rs. 3,460/ 3,460 ¥UU

4. Rs. 3,260/ 3,260 YU

Correct Answer :-

e Rs. 3,360/ 3,360 ¥UUY



17) A college wanted to build a library for its 1000 students. The amount for building it was to be collected
from students as an Infrastructure Fund. Each boy and girl needed to contribute an amount equal to their
respective total number in the college. The grant provided by the government is equal to half the amount
contributed by the college. If the ratio of boys and girls in the college is 6 : 4, how much money is available

to build the library? / T® BIdeT 3T 1000 DTN & oI Teh YRadTera &1 fAUTor H34T1 Tgar 411 59
fFrafor w31 31 IR TP FHTEER e & w0 H B A THA 3t JFt 3t TAS d5d iR asH Bl
BIAS B AP o VBT b IR A BT ARG BT ATARAD ¢ | TRPR gRT UG fobar an
SIS WETARITerd §RT UNTG B T3 318 I & TR1aR 81 AfS BiasT A a8 3R asiPpal 1
ST 6: 4 8, @ TEAPTAT 9911 P fore fra vuT Iuesy 32

1. Rs. 7,80,000 / 7,80,000 ®UU
2. Rs. 4,80,000 / 4,80,000 YU
3. Rs. 2,60,000 / 2,60,000 ¥UU

4. Rs. 5,20,000 / 5,20,000 ¥UU

Correct Answer :-
« Rs. 7,80,000/7,80,000 ¥UUd

18) The cost price of 20 televisions is the same as the selling price of 16. What is the percentage of profit? /

20 RIS Y AT T, 16 TRfI & faora goa & T 81 Ay 1 wi=rddT | 82
1. 22.5%

2.17.5%

3.20%

4. 25%

Correct Answer :-

e 25%

19) What is the length of a cylindrical wire of radius 3 mm that can be drawn from a copper sphere of

radius 21cm? / 3 FOf FrsaT arell T SaATER AR &) dars o g, o 21 A =T ara aie &
Ma I T o1 gHar g2

1. 137200 km / 137200 foHT
2. 536 cm / 536 IHI
3.1372m/ 1372 |t

4,563 m /563 HI

Correct Answer :-



e 1372m/1372

20) What is the distance traveled by the 7 inches long-hour hand of a clock between 06:00 a.m. and 08:00
p.m.? / TP YS! B 7 59 Al G DI g3 B 06:00 a.m. T 08:00 p.m TP A P {1 fora-it gt 7 =1
Tsdl 32

1. 45 inches / 4539
2. 44 inches / 44 $d
3.51.33 inches / 51.33 59

4, 7.33 inches / 7.33 EET

Correct Answer :-
« 51.33inches/51.33 %4

21) The ages of Kamal and Vimal are in the ratio of 3 : 5. After 9 years, the ratio of their ages will become 3 :
4. What is the present age of Vimal? / PHA ﬁﬁnaaﬁ 3 3:5 * Glﬂ'qlﬁﬁ%l 9qul & dlq, T |
3T BT SJUTA 3:4 B AT | fawa Y adur 3mg wan 82

1. 15 years/ 15 a9
2. 11 years/ 11 ¥
3. 13 years/ 13 G

4. 9years/9?ﬂf

Correct Answer :-

e 15years/ 15 G

22) The ages of Joshy and Sebastian is in the ratio of 3 : 4. If after 16 years their ages will be in the ratio 5:6,

then what is the present age of Joshy? /@Qﬁﬁﬁ?@aﬁ'ﬂﬁﬂﬁm3:4$ Glﬂ'qﬁﬁ%l Tlﬁ' 16 H'Eﬁa'l'c{
IAD! 3T BT ATUTH 5:6 T, A =M F a9 3mg 741 32

1.24
2.40
3.27

4. 30

Correct Answer :-



23) In a party, where there were 200 guests, 60 % had vegetarian food, and 50 % had non vegetarian, 30 %
of guest had both vegetarian and non-vegetarian food. How many people did not dine at the party? / Tdh

urdf #, sigt 200 AT T, 60% A ATPTERY WA 4T, 3R 50% A HIGERT HisH fBaT, 30%
Sifafat 3 IMH1ERY v AiEERY el i foear| urdf A feaa @ A HieH 18 fpar?

1. 45
2.40
3.35

4. 30

Correct Answer :-

24) If the sum of the ages of Ram and Sam is 12 years more than the sum of the ages of Sam and Tom; then,
by how many years is Tom younger to Ram? / gfe I AR AT FI arrgmtﬂwﬁﬂ 3R 9 Bt \’rl'l'ﬂﬁ 12
a9 3iftre 3; Y, et 3w A fram af sier @2

1.6
2.10
3.12

4. 15

Correct Answer :-

e 12

25) Two cars start from the same place in opposite directions. If one goes northward at 60 kmph and other
southward at 75 kmph, what time will they take to be 405 km apart? /3-'} H"Tﬁ't{ﬂ? '&ﬂ ™ A fardia
fe=mait & gemr SRy FRet &1 afe T IR B SN 60 5t wier 6 3R 3 gféror ot o 75 et
wfer 5 P fq | et 8, @t S BRI B 405 franiier R 811 & foramn wwa @

1. 3 hr 30 min / 3 H¢ 30 fFe
2. 2 hr 30 min /2 G¢ 30 fiAe
3.3hr/39¢

4.2hr/29c

Correct Answer :-

« 3hr/39c



26) Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7 33 T 9R vat 9 9 R @ T va & S auE o 1 ve T8 82

Canopius Paes
Gallery 9,0ne Lime Street

London EC3GM

(i) Canopius Paes
Gallery 9,0ne Lime Street

London EC3GM

(ii) Canopius Paes
Gallery 9,0ne Lime Street

London EC3GM

(iii) Canopius Paes
Gallery 9,0ne Lime Street

London EC3CM

(iv) Canopius Paes
Gallery 9,0ne Lime Street
London EC3GM

1. iii

Correct Answer :-
e ii



The series given below contains a sequence of alphabets and numbers. Identify the incorrect combination: /

T2 & 7 e , SrerRY iR Tl ®1 U wH iR €1 Ted Taie ygene:

i.ytyui0210uiyty
il.ytyui2210uiyty
iil.ytyui0210uiyty

iv.ytyui0210uiyty

4, il
Correct Answer :-
e i

28) Find the average. / 3Nua Reiferd |

7,21,43,61,82 & 74
1. 44
2. 48
3. 49

4. 52

Correct Answer :-

. 48

29) A man walks 5 km towards the south, turns right walks 3 km, then again turns left and
walks 4 km and turns left to walk for another 3 km and stops. What is the minimum distance
has he travelled between his starting point and ending point?

/ T JATeHt fEror i 3R 5 frrht Bt g wR Taar g, bR ife gea 3 frtft B gl aw waar g, b @
1S 3R SR 4 fortlt Teran 8, 3R U IR 918 3R gea 3 ol aem & a1g 3 a1 31 3 RFUS
g ok wuTu= fig & dta S+ =g7aw fHa- gt @ amn o

1. 5km /5 fooHt
2.9 km /9 fopHT



3. 15 km / 15 fBHT
4. 10 km / 10 foHt

Correct Answer :-

« 9km /9 fHH

30) A and B can do a piece of work in 12 days and 16 days, respectively. Both work together for 3
days and then A goes away. How long will it take for B to complete the remaining work? / A €d B

TP T4 & U 3T & pHR: 12 ) 3R 16 fAY & &2 Id &1 ) 91y e 3 fea
IP HTH B4 ¢, Y A T6T o141 8 | AV SR ) RT B A B Y fva=1 0g am?

1.9 days /9 faT
2.7days/7ﬁ_"f
3.8 days /8 fad

4. 6 days / 6 fad

Correct Answer :-

« 9days/9feT

Topic:- Science and Simple Arithmetic

1) I 5(1—x)+3(1+x) $. then x — - 5(1-x)+3(14x) 8. x =
1-2x — 1-2x —
1. 10
2. 14
3.0
4.2

Correct Answer :-

e 0

(2 + @) (@) =1, thenm-=

3 3 3

2)

1.3

2.4



3.2

4.1

Correct Answer :-

e 1

3) Solve: V28 x 3% = | B hilaTw: /28 x 3%

1.72
2. 89
3. 126

4. 144

Correct Answer :-

. 144

4) Peptic ulcers are caused by ./ ﬂﬁza? quT & PRI F-ﬁ %'I
1. Tetanus / f&eg

2. Protozoan /Eh’cfl\_,rﬁ@:{:[

3. Virus / faumg
4. Helicobacter pylori /%T’ﬂﬁaw g 35’“

Correct Answer :-

e Helicobacter pylori /%T’ﬂﬁaw g 35’“

5) If the unit’s digit of a cube of a number is 9, then the unit digit of its cube root is: 1 afe TP TEIT &

U D SBT DT 3P 9 8, a1 3YP UTHA b SHIS T 3 5 gIm:
1.6
2.7
3.9

4.8

Correct Answer :-



6) ypa+b=25 and a?+ b2 = 225,then ab = -/qﬁa+b=253-ﬂ'{a2+b2:225ﬂ“fab:

1. 250
2. 100
3. 200

4. 400

Correct Answer :-

e 200

7) Lignite, bituminous and anthracite are different ranks of: / ﬁf”ﬂ?ﬁ', ﬁgﬁﬁ’r G @w
fFrafoafaa & 3 feae! = sifeai &2

1. Coal / ST

2. Natural gas / Eﬂ?ﬁﬁﬁﬁg
3. Bio gas xR

4. Nuclear fuel / NS S

Correct Answer :-

« Coal / HIIAT

8) The preferred mirror used for shaving is: / gSITHd (saﬁn) & fere IUART H 91 S 911 a3 giur
&

1. Convex mirror / 3@d GUUI

2. Concave mirror / 3fadd GUUT

3. Plane mirror / THIA gUUT

4. Parabolic mirror / TRAWAH GYUT

Correct Answer :-

e Concave mirror / ddd E'CfUT



The material used for making electrical fuse wire should have: / ﬁgua TSl I diR T4 & forg Ugad
g arelt |rht 9 e g afge:

1. Low melting point / RIS RINGICT
2. Low conductivity / f3% TTeid
3. High melting point / 34 TTc-Ih

4. High resistance / 3= gfeRIY

Correct Answer :-

o Low melting point / IRSRINEIEY

10) Transplantation of seedlings is done for v Gl@_{ 3| m & 1%|1z ARSI %I
1. paddy / dldd

2. wheat/ﬁﬁ

3. maize / HdD[

4. jowar / vdRR

Correct Answer :-

e paddy/dldd

11) Seeded plants are placedin . /wtﬁa _ﬁ?@'\_ﬂﬁ%
1. Pteridophyta /%ﬂ@ﬁm

2. Fungi / dd

3. Algae /QTJI'IFT

4. Phanerogam /g&ﬂ?{f'l\-l'sf[

Correct Answer :-

e Phanerogam /E@Ef’\-ﬁﬁ

12) The chemical process that release energy in a cell is called ./dg e ufsear st
SIRB1A A SHoil aqad Pl &, HEard 2l

1. photosynthesis / TehTRT RQINuT
2. digestion /Uld-

3. breathing /ddd



4. metabolism / 3UTUIY

Correct Answer :-

e metabolism / 3UTUdY

13) holds 2 bones together./ ___ 2 SIFRY B Th HIY \_rﬁ?a?lT%I
1. Adipose tissue / I SHdh

2. Ligament / 3‘@@

3. Areolar tissue / Qﬁ\?‘-ﬂw Hhdh

4. Tendon / ]

Correct Answer :-

e Ligament/ &I@W

14) Which of the following combinations are not present in animal cell? FafrfRadd s TP

HOI U] HIR1PT § SufRyd =81 3

1. Golgi bodies and vacuole / ool BT 3R I

2. Cell and plastid / IR 3R TIH

3. Mitochondria and nucleus / ngaﬁ[*lgm 3R A1fiyes

4. Cytoplasm and cell membrane / W 3‘ﬁ? ﬁﬁw %Iﬁﬁ

Correct Answer :-

« Cell and plastid / PIRAeT 3R Tah

15) At what rate of compound interest pa will Rs. 1250 amount to Rs. 1800 in two years? / 1250 SUY

e ufa=ma arfitfes awpafs sae @t @7 W o) 9 & 1800 T B ST@?
1. 18%
2. 12%
3.20%

4. 15%

Correct Answer :-

e 20%



16) The lengths of two parallel sides of a trapezium are 36 cm and 64 cm. If the distance
between parallel sides is 20 cm, then its area is: / T% GUA gy @i &I THTAR YA13{ Bt
TS 36 . Ayt 64 A, B 1 Afe wHiaR Yonsl & wew gt 20 I, B, A sHPT AFwa A @

1. 5000 sq cm / 5000 a1 T,
2. 4000 sq cm / 4000 7 I,
3. 4528 sq cm / 4528 T I,

4. 4200 sq cm / 4200 T .

Correct Answer :-

« 4000 sq cm / 4000 T T},

17) 1f a polynomial is divided with (x — 2),the quotientis (x + 5) and remainder is 3, then the

polynomial is: / T T ague & & ~ 2 Fym A w & +5) ymrwa qur 3 Avwd qwar @, @
qgUg =1 gim:

1.x2+3x+?
2.x2—3x+?
3.x2+3x—?

4.x2—3x—?

Correct Answer :-

2 4+3x—7

18) If the adjacent sides of a rectangle are in the ratio 2:3, and its area is 96 sq cm, then its perimeter is: / tl'%

TS 3MTId BT ST YWY 2:3 & JUTd A €, 3N SHPT &A% 96 a7 A, B, Y s9ap1 ufewmy e ghm:
1. 40 cm / 40 T,
2. 60 cm / 60 T,
3.50 cm / 50 G,

4. 45 cm / 45 ¥,

Correct Answer :-
« 60 cm /60 IH,

19) If the total surface area of a cubical open water tank is 720 sq m, then what is the capacity of the tank in

litres? / AfQ TP TTHR T 31 Gl S BT HoT 31T &% 720 T L. B, ot S) bt grorar efe A



frat gift

1. 1728 litres / 1728 ¥lex

2. 1.728 litres / 1.728 fle}

3. 1728000 litres / 1728000 TCR

4. 1000 litres / 1000 TeX

Correct Answer :-
o 1.728 litres / 1.728 e

20) If the average of five observations is 22, where four of its observations are 18, 21, 19 and 24, then the fifth
observation is: / f¢ UTd U&HUTI BT 3N 22 §, TIGT 3B °R U&IT 18, 21, 19 3R 24 &, 1 yigan wefor e

1. 28
2.26
3.25

4. 27

Correct Answer :-

e 28

21) Ifin a quadrilateral, the three angles are 85, 72 and 138, respectively, then the fourth angle is: / 'Q'I% T

TgU & & FIoT HHT: 85, 72 AT 138 &, A TAT HYOT = Fh:
1. 65
2.78
3.75

4. 60

Correct Answer :-

22) The area of a triangular region with base 32 cm is 288 sq cm. Then its height is: / T ﬁ"ﬂ\_rl'ﬁ)'ﬁ ?;‘]3[,

ST PR 32 Y. 8, BT AAwd 288 T AHY. B 1 O IHPT HATS T g
1. 15 cm/ 15 THI.

2. 16 cm / 16 THY,



3. 18 cm/ 18 THI.

4,36 cm /36 9.

Correct Answer :-

e 18cm/ 18 9HI.

23) The area of a rectangle is 400sq m. If the sides are doubled, then the area is: / b 3TId BT AAHE 400

T W, 31 3 TP YT SR B ) g, A g e g
1. 160 sq m / 160 I .

2. 1800 sq m/ 1800 a1 .

3. 16000 sq m / 16000 T .

4. 1600 sq m / 1600 T .

Correct Answer :-
« 1600 sqm/ 1600 T .

24) Santhosh bought a refrigerator for Rs. 9000 and was forced to sell it for Rs. 8100. Then the loss
percentage is: / TeT¥ A TH ¥fTpoeex 9000 FUY H WRIGT AYT 5 8100 FUA H 99+ & fore faa=r gt mami
U1 g1t ufa=ra fe ghm:

1. 10%
2. 12%
3. 8%

4. 9%

Correct Answer :-
e 10%

25) Kerosene burns more rapidly than coal because: / ﬁl@ P19 HIad I A aoit J Jaar %
Fqife:

1. it has low calorific value / SID] HARIT IIFTW@T‘IT%I
2. it has more oxygen in it than coal / 398 HIId Hi NEL T 3fdp &mﬁq%ﬁ?ﬁ%l

3. it has low ignition temperature / SHPT Ysd -4 HH Eﬁ?ﬂ % [

4. it is a liquid hydrocarbon / g dX¢dl 6I$\§\Id>l®‘l"'l aﬂT%l

Correct Answer :-



« it has low ignition temperature / HDT Usdeld-dl4 v H Eﬁ?ﬂ % [

26) Identify the substance that cannot be degraded by microorganisms. / 39 TIET?-f Al WﬁE il

qereiial grT fFrfiga =8 faan s awar g1
1. Dead animals / Hd U]

2. Vegetable peels / gieadl & f&eh

3. Empty glass bottles / @elt g B! dida

4. Decaying plants / &JHH 101

Correct Answer :-
« Empty glass bottles / Tl BT ! Sdat

27) 10 ml of a solution of NaOH neutralises 7 ml of a given solution of HCI, then 20 ml of the same
solution of NaOH requires ____ ml of HCI solution to neutralize. / NaOH &T 10 firelt AT HOlL &
o e 7 fireht faea &) SERAF 591 341 8, 9 NaOH & It faera= & 20 fireht H SeRF T &
fT Hel faea & el @1 smaza®arn gl

1. 20
2.14
3.10

4.7

Correct Answer :-

o 14
28) Airplanes have streamline shape, so that they can overcome the ./ 331'{' Slglol bl ATPR
YRT ¥ gl 8, a1fp @ R B UTID |

1. frictional force of air / AT I Y1
2. sliding friction / df eefor

3. static friction /@ﬁm B

4. rolling friction / e gy

Correct Answer :-

e frictional force of air / AT BT Y07 5



29) The double helical structure of DNA was proposed by Watson and Crick in the year

e 3R e gRT S & fgpsiert T &1 wama a9 # far T U

1. 1953

2. 1997
3. 1856

4. 1962

Correct Answer :-

e 1953

30) Which one of the following statements is CORRECT about polythene and plastics? / gifadi= QTJ'

WIReP & TR | Y5t HYT P IGT PN?

1. Are non-biodegradable/ﬁ?—@ﬁﬁﬁ%l

2. Decompose generating bad odour/ﬁﬂﬁﬂ@ﬁ@?ﬁﬁﬂa—cﬂwal

3. Are not harmful / BTR®R® T8 g |

4. Degrade in environment very easily/Wﬁ@EﬁWﬁTﬁﬁ%?ﬁWﬁ%l

Correct Answer :-

e Are non-biodegradable/ﬁ?—éﬁﬁmﬁf%l



